| Efficiency vs Dxy |

0.02r
X

yo! C : : :
O e
Z ool
@16F i
R S R
@014__ """"
T S
0,08t
0.008f it
0.00Bf++vvieooeerd

eff

0.004f+--wevevivereeni-
0,002 -++svieveensi

...................................................
...................................................

Rati

0.95

OL.\,Q_IIII;IIII;IIII;

| Efficiency vs Dz |

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TT_base_noSel
—— DQM_mkFit_TT_retrainOldFiles_v2_8iter2_noSel

N 0.2
o

0.04}
0.02F

T: | SRR
5 b
Ao
O - H H
.14 preseeee :
v 5 5

0.2
O
1| R

.................................................

0.06 [+ wirooer

Ratio

2030
TP dz (cm)




	Contents
	Page 1


